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Time : 2 hours 	 Maximum Marks : 100 

Note : There are two sections in this paper namely, 
Section A and Section B. All questions in Section A 
are compulsory. From Section B, answer any three 
questions. 

SECTION A 

1. Answer the following objective type questions by 
selecting one best choice from the given choices. 
Each question carries 2 marks. 	 10x2=20 

(a) The word QWERTY is related with 
(i) Keyboard 
(ii) Mouse 
(iii) Monitor 
(iv) Printer 

(b) What are the individual dots which make up 
a picture on the monitor called ? 

(i) Pixels 

(ii) Color dots 

(iii) Color spots 

(iv) Color drops 
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(c) 	of the following would best fit the 

following description — Software is copied 

and given to a friend without the permission 

of the copyright owner. 

(i) Shareware 

(ii) Piracy 

(iii) Freeware 

(iv) Public Domain 

(d) CPU contains 	 

(i) ALU 

(ii) Control Unit 

(iii) Both (i) and (ii) 

(iv) None of the above 

(e) 	 is not an Object Oriented 
Programming Language. 

(i) C 

(ii) C++ 

(iii) Java 

(iv) Small Talk 

(f) 	is widely used to develop system 
software. 

(i) C 

(ii) Fortran 

(iii) Prolog 

(iv) None of the above 
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(g) Mnemonics are used with 	 

(i) Assembly Language 

(ii) High Level Language 

(iii) DBMS 

(iv) None of the above 

(h) 	 is an example of a Relational 

Operator. 

(i) 

(ii) OR 

(iii) AND 

(iv) NOT 

(i) SDLC stands for 	 

(i) Software Development Logic Cycle 

(ii) System Development Life Cycle 

(iii) Software Development Life Cycle 

(iv) System Development Logic Cycle 

(j) 	is used for Remote Login. 

(i) USENET 

(ii) TELNET 

(iii) FTP 

(iv) BITNET 
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2. (a) Explain the logical layout of a Magnetic 
Tape. 	 5 

(b) Write the differences between Cache 
memory and Main memory. 	 5 

3. (a) Write a short note on Multiprogramming. 	5 

(b) Explain the first two generations of 
computers. 	 5 

SECTION B 

Note : Answer any three questions from the following. 

4. (a) List any five characteristics of RISC 
Architecture. 	 10 

(b) What is meant by Batch Processing ? What 
are its advantages ? 	 10 

5. (a) Write a short note on Cryptography. 	10 

(b) For what purpose is a Twisted Pair Cable 
used ? How does it differ from a Co-axial 
Cable ? 	 10 

6. (a) Explain any five components of a GUI. 	10 

(b) What is LAN and WAN ? How do they differ 
from each other ? 	 10 

7. (a) Explain the Disaster Recovery Planning 
tasks in the context of computer systems. 	10 

(b) Explain any five functions of an Operating 
System. 	 10 
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